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101|R#A7 L 355 148 207| Kg |EE 1,296 270\ 2,700 270
102|357 L 1,603 1,603| Kg BB 1,593 370
111|&EEF £ 208 208| Kg =40 1,998 717
113|RAV S 183 57 126| Kg |EfE 864 702| =45 1,728 702
114|B5EFE 127 127| Kg BRE - &E 2,970 324
15[ 1= 4 1 3| Keg |EE 864 650/ L/ 3,024 3,023
117[1E 268 70 198| Kg |EE 1,836 702| £ 3,348 648
121|rblE &€ 39 9 30| Kg |EE 972 217| 5 864

134[#= = 502 207 295| Kg |@&B - EE 2,376 1,300| & 2,484 1,404
140(5 I 6 6| Keg b 62,640 23,760
147|E2 O 62 62| Kg |EE 14,040 RS - B 19,440 3,233
168|BIEH AL H 246 246| Kg BERE 2,484 1,620
201|{Lb L 751 751 Kg JbimE - T 1,296 108
203|/hé L 32 32| Kg =5 405 324
205|585 L 415 415| Kg AR 792 324
206| = 1F 300 300| Kg = 756 216
208| Mo % 204 204| Kg ML 2,376 972
2094 B & L 161 161| Kg )1 1,037 594
210|1F ALy 164 152 12| Kg |Ri& 8,100 702|155 2,160 1,890
212|&FE3 Y 113 113| Kg FiE 2,970 1,728
251|< B %<3 290 290 Kg |Ri& 3,272 3,056

252|L0AEECH 86 86| Kg 4] 3,564
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254|ED12ELCA 577 577 Kg = I 2,160 324
3031 A 7Ly 102 12 90| Kg |@H 720 B 972 648
3191 h o 125 28 97| Kg |[E 2,160 1,296 [# 511 2,592 1,512
3321 WA =EF 253 253 Kg 2Pl 1,944 1,566
3BlHHY 37 5 32| Kg [®BE 2,808 JtimE 12,960 2,646
3541 <Y 80 80 Kg Z, 1,404 972
3/5|HEY 94 94 Kg =% HE 2,592 600
356|L L& 10 10| Kg SER 1,080

3577~ E 1 1 Kg FEE 10,800 10,260
362| & 40 40| Kg Jtime 7,776 1,296
401|H W 50 501 Kg Iz & 2,052 1,620
4025 5 &E 21 21 Kg GElEd) 6,804 3,672
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AH w05E | AR TE ity FET) | fE) | ZefEi) FE FHE(T) | PG | 2D
RGBT AV 400 400 Kg 73 4,032 528
ARG EZV 41 41| Kg i E 1,620 1,242
SE WA AR 40 40| Kg F 1,250
TRER 10 10| Kg JtF 1,296
BRI 203 203| Kg K - M7 3,996 1,000
RS T 37 37 Kg JtF 1,620 1,250
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70110 BA 3,334 2,217 1,117 Kg [EE 3,089 2,322| &&= 1,814 1,436
713|IL L» & HF 10 10 Kg JbiF 1,060
BlBEFALANIN 13 13 Kg SR 1,500
755(Fd L 30 301 Kg E=AES 1,044 637
76l|1b Y AEE 16 16 Kg FJE 2,700 2,340
801 = 1F 1,810 1,810 Kg ¥ -mA 2,808 1,296
802|1 x| 50 50| Kg gl 1,814 378
8051 1E 378 378 Kg JbiF 1,274 324
810|FAKF 170 170 Kg bF 4,569 1,674

1/1




